oll

o
)

p
o

2 -8x4+4=2x-3a2 7} F2LE& 2

1.

B +7

@ 5

B 7



lof

—
,_0.._
4r
B



sfoiar.

:[L

Wy
<+
I

o] 164 & ], o]

1

__OH

94

o] 7






= % x ofl tigt oA Ae] opd 227

D x*=0 @ 4x>-4x=0
@ 3x(x+1)=x(x+1) @ x2=x(x-1)-4

B 3x2 -4 = x% + 4x



3 2 @ 3 B 4

1

D0



<|

. A+ VB
Ol AP A 3x2 + 5x -1 = 0 o] 2] x = dA+B e

6
e Fotolat

S

o






oA A A A2 —8x—A =09 F 2] ¢

A, B 9] #t& Fsteizt.

D

|IF|
||

B=

|Ir|



10.

O] A Al 42 4 5x—7 =0 9 =
e Fofolet.

ge
»



ESHIN

Alax? —-2x+b =0 °] & o,

P2

@ 2 ® 3 @ 4 ® 5

1



12. AlS7F {52 ol 2G4 #2 - 10x+a =0 9] §F Fo] 5+ V3 &
o, a 9] k& Fstoet,

ERE



13. oYM - 15x+ k=02 F 2 H7F2:3 L o, k 9 g2
“Fstolet.

s
ct



N7t -3, 5 4 o, ax® +bx+5=0 9

A x2+ax+b=029

Kl

o1z}

14.



15. oA AA 2x° —6x+1 =09 F TS, fEIL T W, (a+5)* = A
, (@=pB)?> =B o|th. A+ B 9] 3& otofet.

g
.



<

b o 27

@ 2 3 3

5x2=10x4+6 = 0 oA =22 ol a & W], 242 —a—ab =0



17. o=

oA Alo] Fg A1 W k, k+58 F 2O s}t o]zare]
A7k 1 Q1 oA F ALY (H, k< 0)
2x2 +kx+8=0

D 2-11x+24=0 @ P2+11x+24=0
® x2-11x-24=0

@ x2+11x-24=0
B x24+5x-12=0



OIFIAA P +3x-11=0F ZZa, T MW, a+1,8+1
= F D22 5L, 2 o ATt 1 ]l oA 427

O 11— -

@D x>+3x-11=0 @ x>4+3x-13=0

@ x24+x-13=0 @ x*+x-11=0

® xX2+x-9=0



19.

T34 EF 2R
M7

@D 4x2+4x-40=0
® 4x2+4x-48=0

B 4x2 +4x—-56 =0

& obo] 42 o] A%7} 4 9l o2

@ 4x2+4x-44=0

@ 4x> +4x-52=0



]

20.

AP A 32 +ax+b =0 9] o] -1, 20|21, bx®> +ax+1=0 9
F 2 a, L T W, op O T2 FStoet

o

=
ks
=t



